Quiz 4a Caleculus 2 319/04

Each problem is worth 5 points. For full eredit provide proper justification for your answer.

l. Find the Taylor polynomial of degree 3 approximating the function f(x) = 1+ x for x near zero,

prs '_,.":;__ :
Tiw) = “E-FH‘:JE. —¥7 If-.II '-*.-i-\] L I"_L-:.] e |
a.:-'.ll_.l =L "'r: i l
el s (0=
ST S e
) = ST G ) o= =5
i 3 _._--:-. ;
' e = r = = ~ M E ' .'.1'1
(R T e '.-ﬂ L Lo E =
-1
2

2, Find the Taylor polynomial of degree 5 Tor the function g{x) = sin x centered at x = (.
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